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5.1 00O

/** O0000000000000000
b3
* <applet code = Wave2d width=500 height=500></applet>
*

*/

import java.applet.x*;
import java.awt.x*;
import java.awt.event.*;
import corejava.;
import Mitsui.*;

import cern.jet.math.x*;

public class Wave2d extends Applet{
MitsuiWorld_2 m = new MitsuiWorld_2(Q);
double xmin,xmax,ymin,ymax,zmin,zmax;
private TextArea ta;

public void init(){
Graphics g=getGraphics();
m.setGraphics(g) ;
m.setScreenSize(getSize() .width,getSize() .height);
//la,b]l x [c,d] x [e,f]
xmin=-2.0;
xmax=2.5;
ymin=-2.0;
ymax=2.5;
zmin=-1.0;
zmax=1.0;
m.setArea2(xmin,xmax,ymin,ymax,zmin,zmax) ;
m.setColor(3);
add(ta = new TextArea(5,30));
//ta.setBounds(0,0,10,7);

}

public void paint(Graphics g){

int nr = 20;

int nt = 20;

double tau = 0.005;
double Tmax = 1
double dt = 0.05;
double skip = dt/tau+0.5;
double hr = 1.0/nr;

double ht = 2.0*Math.PI/nt;
double lambdar = tau / hr;
double lambdat = tau / ht;
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double lambdar?2
double lambdat2

lambdar * lambdar;
lambdat * lambdat;

double Kmax = (Tmax+0.1xtau)/tau;

double[][] uil
double[] [] u2
double[][] u3

new double[nr+1] [nt+1];
new double[nr+1] [nt+1];
new double[nr+1] [nt+1];

//00000
for(int i=0;i<nr;i++){

~

}

for(int j=0;j<nt;j++){
ul[i] [j] = phi(i*hr, j*ht);
}

double mean = 0.0;

for(int j=0;j<nt;j++)
mean += ul[1][j];

mean /= nt;

for(int j=0;j<nt;j++)
ul[0] [j]=mean;

for(int i=0;i<=nr;i++){

3

ul[i] [nt]=ul[i] [0];

for(int j=0;j<nt;j++){

}

ul[nr] [j1=0.0;

g.clearRect(0,0,getSize() .width,getSize() .height);
m.hideBirdView(ul,nr,nt,1);

for(int i=1;i<nr;i++){

double ri=ix*hr;
for(int j=0;j<nt;j++){
int jpl=j+1;
if (jpl==nt){jp1=0;}
int jml=j-1;
if (jm1==-1){jmi=nt-1;}
u2[i] [j1=(1.0-1lambdar2-(lambdat2/ (ri*ri)))*ull[i] [j]
+0.5%(lambdar2* (ul [i-1] [j1+ul [i+1] [j1)
+((tauxtau) /(2.0*rixhr))*(ui [i+1] [j1-ul[i-1] [j1)
+(lambdat2/ (ri*ri))*(ul[i] [jm1]+ul[i] [jp1]1))
+tauxpsi(i*hr, j*ht);

double mean = 0.0;
for(int j=0;j<nt;j++)
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mean += u2[1][j];
mean /= nt;
for(int j=0;j<nt;j++)
u2[0] [j]=mean;

}

for(int i=0;i<=nr;i++){
u2[i] [nt]l=u2([i] [0];

}

for(int j=0;j<nt;j++){
u2[nr] [j1=0.0;

}

g.clearRect(0,0,getSize() .width,getSize() .height) ;
m.hideBirdView(u2,nr,nt,1);

for(int k=1;k<=Kmax;k++){
for(int i=1;i<nr;i++){
double ri=ix*hr;
for(int j=0;j<nt;j++){
int jpl=j+1;
if (jpl==nt){jp1=0;}
int jml=j-1;
if (jm1==-1){jmi=nt-1;}
u3[i] [j1=2.0%(1.0-1lambdar2-(lambdat2/(ri*ri)))*u2[i] [j]
+lambdar2#*(u2[i+1] [j1+u2[i-1] [j1)
+((tauxtau) /(2.0*ri*hr) ) * (u2[i+1] [j1-u2[i-1][j1)
+(lambdat2/ (ri*ri))*(u2[i] [jp1]l+u2[i] [jm1])-ul[i] [j]1;

}
}
//r=0
{
double mean=0.0;
for(int j=0;j<nt;j++)
mean += u3[1][j];
mean /= nt;
for(int j=0;j<nt;j++)
u3[0] [j]l=mean;
}
//Dir(r=1)

for(int j=0;j<nt;j++){

u3[nr] [j1=0.0;
}
//6=2nO000006=000000000
for(int i=0;i<=nr;i++){

u3[i] [nt]=u3[i] [0];
}
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g.clearRect(0,0,getSize() .width,getSize() .height) ;
m.hideBirdView(u3,nr,nt,1);

//ui0w2000w20w300000
for(int i=0;i<=nr;i++){
for(int j=0;j<=nt;j++){
ulli] [j] = uw2[i]l [j];
u2[i] [j] = u3[il[j];

double norm = maxnorm(u3,nr,nt);
if (norm > 10.0)
break;

double t = tauxk;

//00000
double maxe = 0.0;
double x =
double y = ;
double e = 0.0;
for(int i=0;i<=nr;i++){
double ri = i*hr;
for(int j=0;j<=nt;j++){
double theta_j = j * ht;
e = Math.abs(exactu(ri,theta_j,t) - u3[i]l[j1);
if(e > maxe){
maxe = e;
x = ri * Math.cos(theta_j);
y = ri * Math.sin(theta_j);

>

0.0
0.0

}
Format fmt = new Format ("%7.2f");
Format fmt_e = new Format("%7.2e");
String str =ta.getText();
if (str.length() > 1000)
ta.setText ("O 0 "+fmt_e.form(e)+"\n(x,y)="
+fmt.form(x)+","+fmt.form(y)+")\n") ;
else
ta.setText (str+"0 0 "+fmt_e.form(e)+"\n(x,y)="
+fmt. form(x)+","+fmt.form(y)+")\n");
if (skip == 0){
t = kxtau;
}
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//00000000
public double maxnorm(double[][] u,int nr,int nt){
int i0 = 0;
int jO = 0;
double absu;
double tmpmax = Math.abs(u[0] [0]);
for(int i=0;i<=nr;i++){
for(int j=0;j<=nt;j++){
if ((absu = Math.abs(ul[i] [j]))>tmpmax){
tmpmax = absu;
i0 = i;
jo = 3;

}

return tmpmax;

double muO1
double mull
double mu02

2.404825557695773;
3.831705970207512;
5.52008;

//00000¢@
public double phi(double r, double theta)
{

return Bessel.jO(muOl*r)+Bessel. jO(mu02+r);

3

//0000y
public double psi(double r,double theta)
{

return 0.0;

3

//000
public double exactu(double r,double theta,double t){
return 1.0%Bessel.jO(muOl*r)*Math.cos(muOlx*t)
+2.0%Bessel. jO(mu02*r) *Math. cos (mu02*t) ;
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5.2 O0OOOOO

/** O0000000000000D000000
b3
* <applet code = Wave2d_i2 width=500 height=500></applet>
*

*/

import java.applet.x*;
import java.awt.x*;
import java.awt.event.*;
import corejava.;
import Mitsui.*;

import cern.jet.math.x*;

public class Wave2d_i2 extends Applet{
int nfunc=0;
MitsuiWorld_2 m = new MitsuiWorld_2();
double xmin,xmax,ymin,ymax,zmin,zmax;
private TextArea ta;

public void init({
Graphics g=getGraphics();
m.setGraphics(g) ;
m.setScreenSize(getSize() .width,getSize() .height);
//la,bl x [c,d] x [e,f]
xmin=-2.0;
xmax=2.5;
ymin=-2.0;
ymax=2.5;
zmin=-1.0;
zmax=1.0;
m.setArea2(xmin,xmax,ymin,ymax,zmin,zmax) ;
m.setColor(3);
add(ta = new TextArea(5,30));
//ta.setBounds(0,0,10,7);

}

public void paint(Graphics g){
int nr = 20;
int nt = 100;
double tau = 0.045;
double Tmax = 3.0;
double dt = 0.05;
double hr 1.0/nr;
double ht 2.0%Math.PI/nt;
double lambda_r = tau / hr;
double lambda_t = tau / ht;
double lambdar2 = lambda_r * lambda_r;
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double lambdat2

lambda_t * lambda_t;

double[][] u = new double[nr+1] [nt+1];
double[][] uil = new double[nr+1] [nt+1];
double[] [] newu = new double[nr+1] [nt+1];
double[][] al = new double[nr] [nt];
double[][] ad = new double[nr][nt];
double[][] au = new double[nr] [nt];
double[][] ab = new double[nr] [nt];
double[][] ar = new double[nr] [nt];
double[] b = new double[nt+1];

if(dt < tau){
dt = tau;
}

double skip = Math.rint(dt/tau);

g.clearRect(0,0,getSize() .width,getSize () .height);
m.hideBirdView(u,nr,nt,1);

//Lu 0

for(int i=1;i<nr;i++){
double ri = i * hr;
double ri2= ri * ri;
double d 1+2xlambdat2/ri2;
double od = -lambdat2 / ri2;
for(int j=0;j<nt;j++){

ad[i] [j] = d;
all[il[j] = aulil[j] = od;
ab[i] [j] = ar[i]l[j] = 0.0;

}
ab[i] [0] = ab[i] [nt-2] = ar[i][0] = ar[i] [nt-2]
ptriluO(nt,alli],ad[i],auli],ab[i],ar[i]);

3

for(int i=0;i<=nr;i++){
double ri = i*hr;
for(int j=0;j<=nt;j++){
double theta_j = j*ht;
ul[i] [j] = phi(ri,theta_j);
3
}
for(int i=0;i<=nr;i++){
double ri = i*hr;
for(int j=0;j<=nt;j++){
double theta_j = j*ht;
uli] [j] = phi(ri,theta_j) +tau*psi(ri,theta_j);

28

od;



//00000
double nMax = Math.rint(Tmax / tau);
for(int n=1;n<=nMax;n++){
for(int i=1;i<nr;i++){
//00000
double alpha = lambdar2 * (1.0+0.5/i);
double beta = lambdar2 * (1.0-0.5/1i);
for(int j=0;j<nt;j++){
bljl = 2%(1 - lambdar2)*ul[i] [j] + alpha * ul[i+1][j]
+ beta * uli-1][j] -u1(lil[j];
}
/0000000000
ptrisolO(nt,alli],ad[i],auli],abl[i],ar[i],b);
//000
for(int j=0;j<nt;j++)
newu[il [j1 = b[jl;
newul[i] [nt] = b[0];
}
//Dir
for(int j=0;j<=nt;j++)
newu[nr] [j] = 0.0;

//00

double s = 0.0;

for(int j=0;j<nt;j++)
s += ul[11[j];

newu[0] [0] = 4xlambdar2 * (s/nt-ul[0][0]) + 2*xu[0][0] - uil[0][0];

for(int j=1;j<=nt;j++)
newu[0] [j] = newu[0] [0];

// newu, u, ul 00O
for(int i=0;i<=nr;i++)
for(int j=0;j<=nt;j++)
ulli] [j] = ulil[j];
for(int i=0;i<=nr;i++)
for(int j=0;j<=nt;j++)
ulil [j] = newul[i] [j1;

g.clearRect(0,0,getSize() .width,getSize() .height) ;
m.hideBirdView(u,nr,nt,1);

double t = n * tau;

//00000
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double maxe,e,x=0,y=0;
maxe = 0;
e = 0;
for(int i=0;i<=nr;i++){
double ri = ixhr;
for(int j=0;j<=nt;j++){
double theta_j = j * ht;
e = Math.abs(exactu(ri,theta_j,t) - ulil[j1);
if (e > maxe) {
maxe = e;
x = ri * Math.cos(theta_j);
y = ri * Math.sin(theta_j);

}
Format fmt = new Format("%7.2f");
Format fmt_e = new Format ("%7.2e");
String str =ta.getText();
if (str.length() > 1000)
ta.setText ("0 O "+fmt_e.form(e)+"\n(x,y)="
+fmt . form(x)+","+fmt.form(y)+")\n");
else
ta.setText (str+"0 0 "+fmt_e.form(e)+"\n(x,y)="
+fmt. form(x)+","+fmt.form(y)+")\n");
if (skip == 0){
t = n*tau;

}

double muO1 = 2.404825557695773;
double muill 3.831705970207512;

//000
public double phi(double r, double theta){
return Bessel.jO(muOlx*r) ;

}

public double psi(double r,double theta){
return Bessel.jl(mull*r)*Math.cos(theta);
}

//000
public double exactu(double r,double theta,double t){
return Bessel.jO(muOl*r)*Math.cos(muOl*t)+1/mull*Bessel.jl(mull*r)x*
Math.cos(theta)*Math.sin(mullx*t);
}

public double maxnorm(int m,int n,double([][] w){
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int i0 = 0;
int jO = 0;
double absu;
double tmpmax = Math.abs(u[0] [0]);
for(int i=0;i<m;i++){
for(int j=0;j<n;j++){
if ((absu = Math.abs(ul[i] [j]))>tmpmax){
tmpmax = absu;
i0 = i;
3o = 3;

}

return tmpmax;

3

public void ptriluO(int n,
double[] al,double[] ad,doublel[] au,
double[] ab,double[] ar){
int nml = n - 1;
int nm2 = n - 2;
for(int k=0;k<nm2;k++){
int kpl = k + 1;

allkpl] /= ad[k];
ad[kpl] -= all[kpl]*aulk];
if (kpl < nm2)

ar [kp1] -= allkpll#ar[k];
else

aulkpl] -= allkpil]l*ar[k];
ab[k] = ablk]/ad[k];
if (kpl < nm2)

ablkpl]l -= ab[k]*aul[k];
else

al[nmi] -= ab[k]*ar[k];
ad[nm1] -= ablk]*ar[k];

}
al[nml] /= ad[nm2];
ad[nm1] -= al[nmi]*au[nm2];

3

public void ptrisolO(int n,
double[] al,double[] ad,double[] au,
double[] ab,double[] ar,double[] b){
int nm1 = n - 1;
for(int k=0;k<nml;k++){
blk+1] -= allk+1]*b[k];
if(k+1 < nml && k+1 > nml)
blnm1] -= ab[k]*b[k];
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}

b[nm1] = b[nm1]/ad[nmi];

for(int k = n-2;k>=0;k--){
blk] -= aulk]*b[k+1];
if(k+1 < nml && k+1 > nml)

blk] -= ar[k]*b[nmi];

blk] /= adlk];

}

}
public void ptrilul(int n,
double[] al,double[] ad,double[] au,
double[] ab,double[] ar){
int nm1 = n - 1;
for(int k=1;k<nml;k++){
int kpl = k + 1;

allkpl]l /= adlkl;
ad[kpl] -= allkpl] * aulk];
if (kpi<nml)

ar [kp1] -= al[kpl]*ar[k];
else

aulkpl] -= allkpi]xar[k];

abl[k] /= adl[k];
if (kpi<nml)
ab[kp1l] -= ab[k]*aulk];
else
al[n] -= abl[k]*aulk];
ad[n] -= ablkl*ar[k];
}
al[n] /= ad[nmi];
ad[n] -= al[n]*aul[nmi];

}

public void ptrisoll(int n,
double[] al,double[] ad,double[] au,
double[] ab,double[] ar,double[] b){
for(int k=1;k<n;k++){
blk+1] -= allk+1]1*b[k];
if (k+1<n && k+1>n)
b[n] -= ab[k]*b[k];
}
b[n] = b[n]/ad[n];
for(int k=n-1;k>=1;k--){
blk] -= aulk]*b[k+1];
if(k+l < n && k+1 > n)
b[k] = b[k] - ar[k] * bl[n];
blk] /= ad[k];
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5.3 Bessell [
Bessel D00 O0OOOOOODOOODOO NUMERICAL RECIPES in COO
gogooooog
Colt Project (http://dsd.1bl.gov/ hoschek/colt/)
godooooooobobbbbooboooooooooon

[ import cern.jet.math.x*; )

OO000D00D0Oecot ODOODOOOOOODOODOODODO

34



6 OUgng

6.1 O0OOO

gobobobobbodogooooobbobbodoooooobboobbod
obogoboobbooboboobbooboobbooobboobbod
goobobobooobobbboouoooogoobooooobobbboboad
oboobuoobboooboobboobooboboobbooboobbod
gboboboogoobbooogbbobooooboo

JawvaOOUOODOOODOOODOODODDOODOOOOOODOOO
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gboobooooobobooooboon

gobobobbbuougooooobobobbboouoooooobboobooood
gobodobomooobooboobooboobobooobboobobooobba
goobooo
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6.2 0O0OOO

gbooboooobobd.-gbobogoobbboooobobooog -
gooo

gobooodooboooonooooooog

000000 [000|D0000oooooooo

gobooouooooobooouoobogd

NUMERICAL RECIPES in CO COOODOO0ODOOODOODOOWilliam
H.Press,Saul A.Teakolsky, William T.Vetterling,Brian P.Flannery 0 OO0 00 0 00O
gobooouoooooo :bogooo

Doobgrooboobobbomobbobooboobooboobo

oooo,0o0booooooo0oo0 I —0oobooooooooooooooo
OO0 —, http://www.math.meiji.ac.jp/ "mk/labo/text/heat-fdm-2.pdf
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